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Candidates are required to give their answers in their own words
as far as practicable.

SRS et AT FrE
e -3

- 5 2T T6F WG | 8x@
(G 5ifewt (aggregate demand) 998 (NG Cerl=i (aggregate supply) (1 %6 <arw i fAsferie i e
I ASIq 2T WED Pl — 448
(F) o it R 3
() R s 3
e (o @ @RS (transactions) % rej8R SRS (Gross Domestic Product) ST8g& =13
IR G FE Zo WO SeAT FO0! G AT 2 3+

(@) 3 of @3l 72T T3 AN (bicycle) 200 TR & I |
() A corara WW1/5p (grandmother) <1F 5000 Bt q1<EeIet (old-age pension) A1 |

Foa Al o smite Wit ada w0z 2

IS Bt
S 40
o R 4000
AT 4 400
S Cort 200
AT oW 1200
A [FAT FY 800
o (T Siiste 56 Some s 600
I e 400
G YT (N SRR T @ Tror Sitad i S| 3+

Please Turn Over



[K(D-Economics—H-IB] (2)

81 (I HTHHS IRI (BT o ST WiZs #Af7af$e = MPC @93 MPS-97 (g @7 wieoif 9¢
2+
€l () o9 I @ @ [ N @6 &% L eftos 93 (A @@ 29 u-93 JEewma s |
() (PIA [FRICII AT AT TN (FPIFCA 2 (natural rate of unemployment) I 51907 201 2 +3
S| 4 IS G SIANTS AT 2 Ao Wz— G RETFLas (manufacturing) R0 € @3 GRITTET
(Service) HRIFTE | SFTO «A VST (FIE! CFL3 Wi Hwq7 77|
(@) A MECFE (manufacturing) ARRR TKIIT 27, ©1EE OF B dwi< €3 R TG @ R Sow
AT ?
() eI FHTHET (manufacturing) AT GRS ARRETSR GRITHET (service) &N G SIS
T @ e gelke s 2 3+
Q| (F) & [ 2 8 WF o 2T W A1 W weat |
(%) 41 91 W 50 29 (Nominal interest rate) 5% 3R JEIRIRGT 219 %[ | ©I20E 2/Fs 0 217 F 7
2+
bl s icpef aft ot STes #{TaibiR e e el A1, SrRte OR SdE (e et ]
ofo1g Reiz T30 &It 91 11— et |
M PRI SITr IWTET G SI%* F5iw BAE & AR, OIRTE R e Y 22 343
et - ¢
(F-CRITAT N5lo AT Teq M | @
5| IfBers SLaIfeT #Rafere Fufds sitnaag RS vier s 1 3@ | Y
so| FFfiRe @R 7 [ ol uswe?
T R GeANH SRR AT (IISF | (o TBI FATF I whe | v
3| TAI-EA ¢ TGS SETN A PO Gorl T @CS AT, I3 ToF 43 (5 Bemaererg
(Productivity) 3 612 i\
331 G FHHACART (OISt THHS WG | G (15 SAFTT B ARSI ey B B v7@ray el AT A2
G2 B ARSI K (Ol TFFET Bl ARITS =T 21 2 0 +9
0| RIS (voluntary) ¥38 SRIFS (involuntary) (IR0 (unemployment) N5 1< I | Y
381 SIS (anticipated) 9} WeieNf® (unanticipated) S@FRAT (inflation) W =A1efE T | R TEARIRST

(inflation) ST &Iq ST S0 | 3+8



pled

2

(3) [K(I)-E couomics—H-Hq

(&) Seq (moﬁey) @ WIS |

(%) “ofa FRTemFe’ (Neutrality of money) IRl SR | 8
(@) fifers R Rdae aam wdtafos sraet § e
(/) a7 g3: Rt sifeut (investment demand)-3 T3 31 SITAG! A | O+

|English Version |
The figures in the margin indicate full marks.

Section - A
Answer any five questions. 4x5
Using Aggregate Demand and Aggregate Supply Curves, examine the consequences of
(a) A large oil price increase.

(b) A surprise increase in investment spending. 242

Which of the following transactions are included in Gross Domestic Product (GDP) and by how much
does each raise GDP? 242
(a) You buy a used bicycle paying T 200.

(b) Your grandmother receives an old-age pension of ¥ 5000 for the year.

The following table describes a hypothetical economy :

T (Crore)
Subsidies 40
Final Sales 4000
Indirect Taxes 400
Intermediate Consumption 200
Opening Stock 1200
Consumption of fixed capital 800
Net factor income from abroad 600
Closing Stock 400
Find out Gross National Product at market prices and national income. 242

‘Along the consumption function, income changes more than consumption’. What does this imply for
MPC and MPS? 2+2

(a) Prove that the employment ‘N is equal to the labour force ‘L’ times one minus the unemployment rate ‘u’.

(b) When does an unemployment rate become the natural unemployment rate? 2+2
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10.

11.

12.

13.

14.

15.

16.

Consider an economy with two labour markets — one for manufacturing workers and one for service
workers. Suppose initially that neither is unionized.

(a) If manufacturing workers form a union, what impact on the wages and employment in manufacturing
would you predict?

(b) How would these changes in the manufacturing labour market affect the equilibrium wage and
employment in the service labour market? 242

. (a) Distinguish between real and nominal interest rates.

(b) Suppose that the nominal interest rate is currently 12%. If the inflation rate is zero, what is the real
interest rate? 2+2

. Explain why if banks hold all deposits in reserves, banks do not influence the supply of money. What

happens when banks hold only a fraction of deposits in reserves? 2+2
Section - B
Answer any five questions. 6x5

Discuss the underlying reasons for the downward slope of a macroeconomic Aggregate Demand
Curve. 6

Do you agree with the statement — ‘GDP is the true measure of welfare’? Give reasons for your
answer. 6

How can human capital be compared with physical capital when both promote productivity in the
economy? 6

Consider a linear consumption function. What are the possible underlying reasons behind a ‘shift’ in this
consumption function? How do you distinguish this ‘shift’ from a ‘change in slope’ of the consumption
function? 3+3
Distinguish between ‘voluntary’ and ‘involuntary’ unemployment. 6

Distinguish between the anticipated and unanticipated inflation. What are the economic effects of these
two types of inflation? 2+4

(a) Define money.
(b) Explain — ‘Neutrality of money’. 2+4

(a) What are the major economic forces that determine business investment?

(b) Explain the relation between interest rate and investment demand. 3+3
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